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Candidates ‘mitst enter his / her
Duestion. Booklet Serial No.
) in the OMR Answer

ates are required to give
thetr answers in their own words
as far as practicable.

Figures in the rfght hand margin
indicate full marks.

15 mihutes of extra time have been
allotted for the candidates. to read
the questions carefully.
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(110]
This question booklet is divided into
two sections — Section-A and

Section-B,

In Section-A, there are
100 objective type questions, out
of which any 50 questions
are to be answered. First
50 answers will be evaluated in
case more than 50 questions are
answered. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer sheet provided to
you. Do not use whitener / liquid

~ / blade / nall etc. on OMR-sheet,

otherwise the result will be
treated invalid.

In Section-B, there are 3(? short
answer type questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there
are 8 long answer type
questions, out of which any
4 questions are to be answered.

Each question carries 5 marks.

Use of any electronic appliances is

strictly prohibited.
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E {1'101

@Ug - A / SECTION - A

TH% WY / Objective Type Questions

oyt WEar 1% 100d% & wyT & @ 9w, fasey Ry mv & frad 3 vw gt &
gl 50 WvAl & JA¢ 397 gRT Y+ ¢ Wl faweq &1 OMR iz wv Fafea
I | ~© 50x1=50
Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. | 50 x1=250

}/'mﬁﬁ%ﬁma@w%ws@—m%? ,
(A) x2+7x-30 V(B) x?-7x-30

(€)' x2+7x+30 (D) x2-7x+30

Which of the following quadratic polynomials has zeroes

3and-107
(A) x2+7x-30 (B) x2-7x-30
(€ x2+7x+30 - D)  x2%-7x+30

2. AR e Rum wgue F EH 1 ATEA 3 T IS e - 2 @, A @
ﬁamagqa%

(A) x%2-3x-2 B) x2<3x+3

(C) x%2-2x+3 D) x24+3x-2

L“____.(
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If the sum of zeros of a quadractic polynomial is 3 and their

product is - 2 then that quadratic polynomial is

A) x%-3x-2 (B) x2-3x+3
(€) x%-2x+3 (D) x?+3x-2
e p(x) =x% -2x3 +17x? -4x+30 ®l g(x)=x+2 QWM fean T 2
dl MIThe 1 OTd 2
(A) 6 . (B) 3
% 4 | ' D)y S
If p(x) =x*-2x3+17x%-4x+30 is divided by gq(x)=x+2 then
the degree of the quotient is |
(A) © B)y 3
© 4 | D) 5
4. x+2y+3=0, 3x+6y+9=0 % fra g &M ?
g &) T  (B) IR
S safFa gt (D) ¥ & FIF TE
How many solutions will x+2y+3 =0, 3x+6y+9 =0 have ?
(A)  One solution
(B) No solution
(C) Infinitely many solutions
(D) None of these
SS/A/605
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| - [110]
2 thas Tl & S@ihae afs guial g at gl <t w5 gl

5.
a1 (B) 2
(C) IR . (D) ¥ A HIE T

v

If the graphs of two linear equations are parallel then the number

of solutions will be
(A) 1 | B) 2.
(C) infinitely many , (D). none of these
-6/'" g Ffleor TW 5x -4y +8=0 W Tx+6y-9=0 2
-~ (A) €W (B) 3ETd

(C) 3anf¥@ | (D) T A B T
The pair.of linear equations 5x-4y+8=0 and 7x+ 6y—-9=0 is
(A} consistent - (B) inconsistent

(C) dependent | (D) none of these

7. afe fyam wlie 3x2 -5x+2=0 % qW o A o2 +p? F A R

w2 ® 15
S | 3
© 3 s

SS/A/605 - . Page 5 of 44
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[110]

i ‘ 2_5x+2=0 th
If « and § are roots of the quadratic equation 3x° =5 en

the value of a? +p? is

13 2
w2 B T3
5 3
8. i fgumd wfiehtur 2x2 —7x - p=0 1 TH A 28 W pHAA B
(a) 4 . /. —1B) -4
C) -6 D) 6
If one root of the quadrétic equation 2x%2 -7x- p=0 is 2 then the
value of pis
(A) 4 ‘B) -4
C) -6 | D) 6
9.  uf fymm wfewr 2x2 — x-6=0 % T g =2 & 0. 39H I A 3
(U 2
. A -2 . B 2
3
(C) > (D) 3
If one root of the quadratic equation 2x2 -x-6=0 is ?then its
another root is
Ay -2 B) 2
3 i
© 3 D) 3
| S5/A/605
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faama T 2x2 — 6x+ 3=0 % Heil H THid 1 8 ?

(A) GRS T IEER | (B) 9T W@ WH
() arfas T (D) ¥H R B3 &

What is the nature of the roots of the quadratic equation

2x2 —6x+3=0 ?

(A) real and unequal (B) real and cqua}
(C) motreal (D) none of these
11, afe ee i 3 %1 5 af Wg 11 T W A 2 R @ I6H qUH T HM

\

B 2
() 1 B) 2
c 3 - D)y 4

If 5th term of ani A.P. is 11 and common difference is 2 them whatt

is its first term ?
A) 1 . (B) 2
c 3 . (D) 4

12. nﬁaﬁmaﬁﬁﬁﬂ'n2+2n+l%?ﬁ3ﬁ6aqﬁ%
(A) 29 (B) 19

oy 15 (D) ¥ ¥ IE T8I

"The sum of an A.P. with n terms is n> +2n+1 then its 6th term is

(A) 29 (B) 19.
(C) 15 (D) none of these
SS/A/605 || Page.7. of 44

https://www.bsebstudy.com .


https://www.bsebstudy.com/

m | [110)
13. ﬁm%%mﬁﬁhaﬁmﬁﬁﬁi? |

[/ 2 3 4

5
x”,...
w 1! 7! gl‘ 16'. LR (B) x ' x ! x !

2 .2 £2 g2
(C] X, 2x,3x,4x,... (D} 2 r4 l6 18 ’

Which of the following is in an A.P. ?

2 .3 .4 O

A) 1,7,9,16, .. (B) x°,x7,x X0,
(C) x, 2x, 3x, 4x, ... D). 22, 4% 6%,8%, ...
19 Frerferfaa i # w4 d 7 & 2

A 1,2,3,4, .. (B 3,6,912, ...
© 24,68 .. o 2%4%,6%8%
Which of the following is not in .an A.P.?
A 1,2,3,4, ... (B) 3,6,9,12, ..
(C) 2,4,6,8, ... D) 22,42, 62,82, ..

Eiffiﬂﬁﬂtaéi1,4,7,10,".a€§3ﬁiﬂ)qﬁ?EI€MMﬁi%

(A) 500 | , (B 540
(C} 590 (D) 690

The sum of first 20 terms of the A.P. 1, 4, 7, 10, ... is

59 (D) 690
SS/A/605
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Eﬁm%@ﬁﬁmm ] & T(ET B ?

(A) sin?60" +cos60° - | ABT

(D) sin45 x

sin 90" x cos 90"

1
cos 45

(C) sin“60°

Which of the following valucs is ecqual to 1 ?

(A)  sin?60° +cos60’ (B) sin 900 x cos 90
1
coSs 450

() sin260° (D) sin4d5°x

y‘- coszA(l+tan2A) =

(B) cosec?A

@) sin” A
c 1 L P ténzA_
. 1}/ tan30° =
W B - B B !

19 -.c0560°=
T -
1 3
L B) %
1

(C)

N

[ 110 ]
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(110

®

(C) + D) O

21. fag (8 sin 60°, 0) 7T (O, 8_coseo°]%ﬁﬁ‘ﬂﬁ§ﬁ%

A) 8 V[Ba 25

1
(C) 64 D) 3

The distance between the points ( 8 sin 60° O ). and
(0, 8 cos 60°) is
(A) 8 (B) 25
O =
(C) 64 . 3

22. uﬁow,oymﬁi@wﬁﬁp%ﬁ%&ﬁmu,y)ﬁa’t@ OP?

L~
(A) x? - y2 /_[B} xX“+y

© x*-y? D) o @ HE TE

If O (0, 0) be the origin and co-ordinates of the point Pbe ( x, ¥)

then the distance OP1s

{A] x?. _ y2 ' (B) x2 + y2
€ x*-y? (D) none of these
SS/A/605 : Page 10 of 44
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e

y-3u A g (12, 14)F gl @

(A) 12 (B) 14

(C) 13 | __ (D) 15

The distance of the point ( 12, 14 ) from the y-axis is -
a) 12 (é.) 14"

(C) 13 | (D) 15

fag (-6,-8) =i 2

A) -6 B) -8

AC) 6 | _ (D) 8

The ordinate of the point (-6, -8 ) is

[110]

(a) ' -6 (B) -8
C 6 ' D) 8
25. fg(3,-4)fraugdfRmg?
(A) Wum B fw
© T | D) g
In which quadrant does the point ( 3, - 4,) lie ?
(A) First (B) Secoﬁd
(C) Third (D) Fourth |
SS/A/605 | Page 11 of 44
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110 |
26, fmfafaa § #H-w famg foda wgute § fea @ 2 |
(A)  (3,2) (B) (-3.2)
C) (3,-2) (D) (-3,-2)
Which of the following points lics in sccond quadrant ?
(A)  (3,2) B) (-3,2)
€ (3,-2) (D) (=3,-2)
27. fagall (4, - 4 ) 3 (- 4, 4 ) F HEREE e & qu fag &
ECEUCTR
(A (4,4) (B (0,0)
(€) (0,-4) | (D) (-4,0)
The co-ordinates of the mid-point of the line scgment joining the
points (4,-4)and (-4, 4) are
(A) (4, 4) | (B) (0,0)
€ (0,-4) (D) (-4,0)
28. Y@mEvgs AB ¥ nw famg (2, 4) 2 i fag A % s (5,7 ) € A g
B % frams 8
(A) (2,-2) B (1,-1)
©) (-2,-2) D) (-1,1)
The mid-point of line segment ABis ( 2, 4 ) and the co-ordinates of
point A are ( 5, 7 ), then the co-ordinates of point B are
Ay (2,-2) By (1,-1)
€ __(-2.-2) D) (-1,1)
| SS/A/605
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29 forefl g0 & = & Rl & Péw® (10, -6 )aW (-6, 10)E A IV &
3 % P |
@ (-2-2) « . (B (22)
© (-22) D (2,-2)
The co-ordinates of the ends of a diameter of a circle are ( 10, - 6 )
and (-6, 10). Then the co-ordinates of the centre of .the circle are
@ (-2-2) B (22)
© (-2.2) D) (2,-2)
30. u&%&ﬁﬁgm%sﬂﬂ%ﬁ'&ﬂmm 6),(0,4)3MR (5 5) & @ B
%W%ﬁi‘wﬁ%
A (5,3) B (3.4)
© (44 . D) (3,5)
The co-ordinates of the vertic_els of a triangle are (4, 6), (0, 4 ) and
(S, 5) then the co-ordinates of the centroid of the triangle are
@ (53) LB (3,4)
© (4,4 . D (35)
31. ﬁqﬁaﬁiﬁaﬁaﬁq—mﬁawmmmii
(C) 22332 . (D) -2-5%
SS/A/605
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[ 110)

m wWhich of the following fractions has termin ating decima]
expansion ?
9
14 B —_
8 D) 15
© 2.3 | 2% x5°

qp. —P & ®aH 0505 2 frar 5 G641

zltxs!n

A = B) 1 o3
2)(5 '2><5
101 101

C) ——s | (D)
72 % 52 23>-<52

, 0:505 can be written as

In the form of P
2ﬂ m

X
101 S 101
(A) B
ol x 52 : (®) ol 53
101 101
(C) D
02 52 (D) 03 x 52

33 gfe ym wifi@Ha=bg+r H.b=4,q=5 3 r= 18 @ @ AR E?

(A) 20 B) 21

(C) 25 (D) 31

If in division algorithm a=bg+r, b=4, g=5 and r = 1, then what

is the value of a ?

(A) 20 . B) 21
(C} 25 (D} 31
SS/A/605 | Page 14 of 44
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34. WEUE 2x% -4x-6 % YIF 8
@ 1,3 . B -1,3
c 1,-3 by -1,-3
The zeroes of the polynomial 2x%-4x-6 are
A 1,3 B) -1,3
© 1,-3 | D) -1,-3
35. WEUG (x> +x? +2x+1) (x? +2x+1) W UM 8
a) 3 _ _ (B) 4
€ S ' (D) 6
The degree of the polynomial (x3 +x2 +2x+1) (x2+2x+1) is
(A) 3 B) 4
€} S (D) 6
36. Prefehas i ® agug 76 2 ?
A)  x%-7 | . B) 2x%2+7x+6
1 2.1 | 4
C = = 2
(C) X +2x+4 (D) X+—
Which of the following is not a polynomial ?
A)  x2-7 B) 2x2+7x+6
€  ix?+lx+q D) x+2
2 2 . x
SS/A/605
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Wﬁmmw*mzﬁ‘ﬁ?

37.
A)  x2+4 (B) X ?-4
(€ x%2-2x+4 | (D) x?+/8
Which of the following quadratic polynomials has zeroeg
2and-27?
(A)  x2+4 B) x*-4
(C) x2-2x+4 D) x*+48

38. af} agwR 2 474410 FEF oW P A a+ p 1 A 2
@A) 7 B) 10
c -7 D) -10
If « and B are the zeroes of the polynomial t2+7t+10 then the |
value of a + B is |
(A) 7 (B) 10
) -7 D) -10

39. (sin30 +cos30 )-(sin60" +cos60’) =
A -1 B) O
€ 1 D) 2

SS/A/605 Page 16 of 44
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40

T I R TR R T T R T S R
) E

| 110 |
afy fgam agwg (k=1)x? +kx+1 BTG [IH -4 BA kHAAR

Hln

@ -2 @

C) - (D)

Wi
Wl

If one zero of the quadratic polvnomial (»ﬁc—l):»:2 +kx+1 is - 4 then

the valuc of k is

w3 ® 2
c -2 o 3
41, Frdt W@ foig P& 99 W PA @ PB Q w¥ Yerd Wi T ¥ aR
PA=8WW & pPB=
(A) 6 &h - (B) 8t
() 12 & (D) 16 g
| From an external point P, two tangents PA and PB are drawn on a
; circle. If PA = 8 cm then PB =
| (A) 6cm (B) 8cm
L (C) 12cm (D) 16 cm
.42, 4fe PAwE PB Tt aw fag P ¥ Oﬁiﬁiﬁﬂﬁiﬁﬂﬁmﬁm
Wd LAPB = 80° @ LPOA =
Ay 40° (B) 50°
(C]. 80° (D) 60°
! SSIAS .F.’Q§._J _ Page 17 of 44
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[ 110

»xternal point P
If PA and PB arc the tangents drawn from an ex P o5

_ 80° then £POA =
circle with centre at O and ZAPB 80° the

(A)  40° B) S0°
(C) 80° (D) 60° |
43. @m@a%ﬁﬁgm@%ﬂnﬁmﬁ?@,mﬁ%ﬁmﬁaﬁﬁﬁm

q ®H-H1 HN &I 8 ?

(A) 30° (B) 45°
© 60° (D) 90°

What is the angle between the tangent drawn at any point of a

circle and the radius passing through the point of contact ?
(A) 30° (B) 45°
(C) 60° (D) 90°

44, Qg H Bl F IgE 3: 4 2 A T e w1 I 2

(A) 3:4 B) 4:3
(€C) 9:16 (D) 16:9

The ratio of the radii of two circles is 3 : 4 ; then the ratio of their

areas is

(A 3:4 (B) 4:3

[C) S ¢ 16 Y (D} ]6 - g
SS/A/605
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45. 42 ¥ B 9@ gn ¥ 3a feuws R $a S 30° &, F EEw
(A) 515 @2 (B) 416 &?

) 462 Fh> (D) 406 A2

The area of the sector of a circle of radius 42 cm and central angle

30° 1s
(A) 515cm? | (B) 416 cm?
(C) 462 cm? (D) 406 cm?

46. ﬁqﬁﬁﬁuﬁwws:?%ﬁm@ﬁwaﬁmmé

(A) 7:5 : By 5:7

B T

(C). 25:49 (D) 49:25

The ratio of the circumferences of two circles is 5 : 7 ; then the

ratio of their radii is
(A) 7:5 By 95:7

(C) 25:49 : (D) 49:25

y'?SCCQA-?tanQA:
A 49 - B 7

c 14 (D) O

- 48, AR x=acosh I y=bsin0 @ b2x2+a2y2=

&)  a®p? " (B) ab
) a*? | D) a*+ b
SS/A/605 - Page 19 of 44
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) 2.2 _
m b2x2+ﬂy -

i en
If x=acos0 and y=bsin0 th

2 B ab '

2 . 1,2
4,4 (D) a®+b

C) ab . .
| m%lomﬁaﬁmbo %.'ﬂ]tﬁ:m

49. @ﬁmﬁ%ﬂﬂﬁwwﬁm.ﬁ

i_

e E

3t :

(A) 10 (B) 10/3% %
© 15/3% o) 2042

iste of
The angle of clevation of the 10p of a tower at a distance of 10 m

from its base is 60° ; then the hu:fht of the tower is

o5 5

(A) 10m (B) 10V3m
(C) 1543m (D) 2043 m

l/o/@a"q?ﬂqea”ra 30 ) i FaE W R IR SHR g gl B 60° Fl HW “
T 8, @ SR 1 4R 2 , ';

‘);q 3042 (B) 3543 #i
(€) 2043 (D) 45J2 Hi

A Kkite is a at a height 30 m from the carth and its string mak§s an g

angle 60° with the carth. Then the length of the string is

(A) 30¥2m (B) 35J3m

;

() 20J3m D) 4542m ;
1

SS/A/605 .
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51. AR A(0,1), B(0,5)W C(3,4)fd aaBC % tid &, a1 AABC I
e (o e ) &
(A) 16 (B) 12
c 6 (D) 4
IfA(0,1),B(0,5)and C{(3, 4) are the vertices of any AABC,
then the area ( in square pnit ) of AABC 1s
(A) 16 | (B} 12
C) 6 | (D) 4
fi 52. tan 10°. tan\23_° : t.%m 80° . tan 67° =
E (A) O L B 1
i |
| © V3 (D) %
53. uﬁawﬁﬁaﬁ%aﬁmmwﬁ 100 : 144 R, A I @ YA
1 5 2 R _
A) 10:8 | (B) 12:10
() 10:12 (D) 10:13
If the ratic;_of areas of two similar triangles is 100 : 144 then the
ratio of their corresponding sides is |
(A) 10:8 | | (B) 12:10
(€) 10:12 - (D). 10:13
SS/A/605 Page 21 of 44
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54 fﬁﬂqaﬁ & Wﬁ%ﬁq{gﬁ{ﬁﬁda}ﬂaﬁﬂf@ﬁﬁﬁ -
(A) S (B O%h T
e D) A PR T |
A line which intersects a circle in two distinct points is called
(A)  Chord (B) Secant
(C) Tangent (D) None of these
55, @ we f @ v g 4 c 9 b g A A B 3 dvwe
| e feean g 2
(A)  9:4 , BL 16: 81
(C) 81:16 ﬁ 2:3 )
The corresponding sides of two similar triangles are in the ratio
4 1 9. What will be the ratio of the arcas of the triangles ?
(A)  9:4 (B) 16:81
(C) 81:16 D) 2:3
56.

AABC ~ADEF @4l BC = 3 8ft, EF = 4 &1 1 o AABC %1 85%q
54 §f12 |, A ADEF = &%l ¢

(A) 56 |2 (B) 96 g2
(C) 196 &2 (D) 49 A2

AABC ~ADEF and BC = 3 cm, EF = 4 c¢m. If the area of AABC is

54 cm? » then the area of ADEF s

(A) 56 cm? (B) 96 cmn 2

(C) 196 cm? (D) 49 cm?2
SS/A/605
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[110]
foret Bt ABCH £A = 90°, BC= 133, AB= 12 ) 41 AC &1 5 2

(A) 3384 (B) 48

(0 s (D) 63 .

In any AABC, £A =90°, BC= 13 cm, AB= 12 c¢m ; then the value of
ACis

(A) 3cm | "(B) 4cm

(€ Scm (D) 6cm

ADEF @01 APQR W i @ f% 4D = 20 oW1 LR = £E, @) Pr=fofaa &
- T R ?

(A) <«£F=/P - (B) ZF =/£0Q

C) zb = LP (D) <E=«P

In ADEF and APQR it is given that <D = £Q and /R = ZE, then

- which of the following is correct ?

(A) ZF=2P (B) 4F =/£Q
() «4D=csP | | {D}- LE= /P
S9. AABC W aDEF W wam & f5 AB_BC 2w A = 400,
ZB=80°® <F & 71 2 |
(A)  30° . (B) 45°
(C) 60° | (D) 40°
SS/A/605

Page 23 of 44
https://www.bsebstudy.com


https://www.bsebstudy.com/

[110]

AB _BC _ LA und /A = 4q

AABC and ADEF are such that BE: o
/B = 80° ; then the measure of ZFis
(Ay  30° (B) 45°

[C] 60° [D] 40°

Eo/ﬁwﬁl‘eéaqa‘iﬁmﬁﬁmﬁmaﬁaﬁﬁcm?

(A)

(€)

1

3

(B) 2

V(Draﬂfﬂqﬂ

The number of common tangents of two intersecting circles is

(A)

(C)
' __/"'

(A)

(C)

The

1

3

2

4

length

(B) 2

(D) infinitely many

61. @ AU 2-5,5-8,8-11, ... % 9 & @4l 8

(B) 3

(D) 35

of the class intervals of the classes,

2-5,5-8,8-11, ...is

(A)

(C)

2

4

(B) 3

(D) 3-5

9/ H&wmﬁwmaﬁaﬂmmeé,?ﬁaﬁﬁa@m%

(A) 45 B) o9
& 21 (D) 15
SS/A/605
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If the mean of four consccutive odd numbers is 6 then the largest

number is "
(A) 45 (B) 9
) 21 - (D) 15

| 63. WU 6 &N A wENH F1 w2

—

| A) 4 (B) 6
(C 7 . AP T @ wi§ T
The mean of first 6 even natural numbers is
(A]. 4 B} 6
€ 7 (D) none of these

64. 1+cot?0'=
(A) sinZ0 (B) cosec20
(C) tanZ0 (D) - sec?0
65. 8,7,9,3,9,5,4,5,7,5% 9gT &
W s | ® 7
€ 8 D 9
The mode of 8,7, 9, 3,9, 5, 4, 5, 7. § is
(A) 5 B) 7
€ 8 D) 9
SS/A/605 Page 25 of 44
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66.

68.

[ 110
af2 P(E)=0-02 7 P(E') SR 8
(A)  0-02 (B) 0002
(C) 098 (D) 097
If P(E)=0-02 then P(E’) is equal to
(A}  0-02 (B) 0-002
(C) 098 (D) 097

Sl UTH H Th WY Gl A1 B) FY AEEE bl B I Y= BN f
uTfreran @ @ ?

® ® &
S S
T D) 5

Two dice arc thrown at the same time. What is the probability that

the difference of the numbers appcaring on top is zero ?’

1 : 1
A e ® 1
> 5
N P38

< fmi A 3o1e 3§ A w i o ) i 2

I 1
W B

| —

(C) 3 (D) 1

| SS/A/605
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The probability of getting hcads on both the coins in throwing two

coins is ' -

® 3 ® 3

c = D) 1
;-

69. waﬁﬁ@u@mr{a}mqmam%iw%?ﬁm_méﬁﬁ

v 2
3 | 1
7 B) 15
\ 1 1
€z D 7

A month is sclected at random in a year. The probability of it being
June or September is

3 1
N g | B 5

1 1
© z O 7

70w U@ B $6 § G 4 9@ 5 3 H wiikena

- 1
SN2 - Bog
1 . 2

The probability of getting a number 4 or 5 in throwing a dic is

(A) (B)

M-

wihy W=

(C)
| S8/A/605

(D)
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f-a‘lrﬁa‘iﬁ:amaﬁwaqgwra64:125%ﬁ's=ﬁﬁ'{miﬁt‘n’f'ﬁaﬁ:-,;m%

(A) 25:8 B) 25:16
a = = =r
(C) 16:25 [yl gl | 1S T

The ratio of the volumes of two spheres is 64 :125. Then the rar,

of their surface areas is

(A) 25:8 B 25:10
(C) 16:25 (D)  none of these

72. @ e 6 Bomoll w1 3T 4 : 52 W HH HA B I 6 7R
A1 I A FT I
(A) 96:125 (B) 96:175
(€C) 175:96 (D) 20:63
The radii of two cylinders are in the ratio 4 : 5 and their heights are
in the ratio 6 : 7. Then the ratio of their volumes is
(A)  96: 125 B) 96:175
(C) _175 : 96 (D)  20:63

;3 R e ot et w1 vt um w2 o
() =R B 27R?
(€  3zR? D) ank?
What is the total surface area of a hemisphere of radius R ?
@A) =R (B)  2zR2
(C)  3rR? D) 1zR?

.SS/A/605

Page 28 of 44
https://www.bsebstudy.com



https://www.bsebstudy.com/

E] | [ 110 ]

74. aﬁ%ﬁ@%wwmawﬁrﬁzéaﬂtﬁwméﬁ%?ﬁsmﬁ]
forder Fams 2
(A) 10 &I (B) 20 ¥l

(C) 40 & (D) 30 &l

If the curved surface area of a cone is 880 cmzand its radius is
14 cm, then its slant height is

(A) 10 cm (B) 20cm

(C) 40cm (D) 30cm

75, af Rt a3 Rl 1 crré 245 0 & A 5% B et R

(A) 28M B) 2J3 3
© 3wh ) e
If .the length of the diagonal of a cube is 2¢3 cm, then the length of
its edge is '
(A) 2cm . ‘(B) 2v3cm
(C) 3cm (D) 4cm
76. %ﬁmmmg@ﬁmﬁm@@m%ﬁ%wqﬁmaﬂ
feRam 1 & ST 2 |
(A) QAT | | (B) SR
(C) BT (D) aRE T
: SS/A/E:OS Page 29 of-44
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If the edge of a cube is doubled then the total surface area wyjy
arca ?

become how many times of the previous total surface

(A)  Two times . (B) Four times
(C)  Six times (D)  Twelve Lmes
77. Pl T % g g dewet S Sd e ¥ T SR F DA 98 &oigyy
%1 3 2
(A) 2:1 (B) 4:9
(C) 3:2 (D) 4:3
The ratio of the total surface area of a sphere and that of g
hemisphere having the same radius is |
(A) 2:1 B) 4:9
(€) 3:2 D) 4:3
78.  af el ardiiet % w6 gdi e 1232 I2 %,?héaﬁﬁw%
(A) - 75 ‘{B] 14 o |
(C) 21 & (D) 28 &
i; ;?:S::Wﬁl surface area of a hemisphere is 1232 cm?then its
TN
(A) 7 cm B) 14 cm
(C) 21 cm
TV (D) 28 cm

Page 30 of a4
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81.

'82.

ML T e - By

[ 110 ]
Iiﬁ c030+cosg{]=1 al sin? 0+sint 9 F1 979 2

A) -1 | B) 1
© o D) 2

If cos0+cos20=1 then the value of sin?0+sin? 0 is

A) -1 B 1
(C) O (D) 2
l+tan® A _
1+cot? A
(A) sec?A (B -1
-~ (C) cot? A (D) tan? A

k% f5a v & fog g e ke -6x+1 =0 & 7o arafys w@
e 3 ? |

A 6 | B 8

C 9 (D) 10

For what value of k, roots of the quadratic equation kx? —6x+1 =0

are real and equal ?

A) 6 (B) 8

(C) 9 o (D) 10

A T p(x) w1 T S 2 D, @ FefaRe § w p(x) 1 @
THEUS § ? ‘ |

(A)  x-2 B) x+2
: (€)  x-1 (D)  x+1
SS/A/605
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| 1](}‘]

2 then which Qf
If onc of the zeros of the polynomial plx) 18 tgﬁ

following is a factor of p(x) ?

A)  x-2 B) x+2
(C) -1 (D) x+1
83. AR WEWE ox? +ax+b H YEH « WP E, Aa. P 1
-a
w = B =
b _b
© 2 (D) c
If @ and P be the zeros of the polynomial cx? +ax+ b then the valye
ofa.pis
a -a
a 2 B =2
b - b
(C) Py (D) - °
84. T=fefaa # @ w1 fgaw afwm R 2
(A)  (x+3)(x-3)=x?-4x3 (B) (x;s}z =4(x+4)
(C) (2x-2)2 =4x247 (D) 4x+-L =4y
. X
Which of the fdllou*ing is a quadratic equation ? .
(A)  (x+3)(x=3)=x2 —4x3 (B) (x+3)% =4(x+4)-
€) (2x-2)? =4x2+7 D) 4x+-Lcax
4x
SS/A/605
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frafafan 4 @ w4 feam wfiew 34 2 2
(A)  Sx-x%=x2+3 B) x3-x%=(x-1p
(C) (x+3)%=3(x%?-5) (D) (V2x+3)2=2x%+5

Which of the following is not a quadratic equation ?
(A) Sx-x?=x?+3 B) x3-x?=(x-1)°

(C) (x+3)2=3(x?%-5) (D) (V2x+3)%=2x%+5

- 86, foum wfiewr 2x2 - 7x+6=0 1 fowws @

(A) 1 B) -1
(C} 27 . (D) 37
The discriminant of the quadratic equation 2x%-7x+6=0 is
W o1 B -1

€y 27 (D) 37
87. T=ticriEa W i fag x = 2 % W@ W E ?

@ (2,0) B (21)
(C) (2 2) (D) FH T wfl
Which of the following points lies on the graph of x =2 ?
(A1 (2,0) B) (2,1)
C) (2.2) (D) all of these
“SS/AHUS |
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88. lﬂ\aP+1.2P+1'4P‘1“ " A8
Al B) 2
o 3 D) 4

fPis
[fP+1,2P+1,4P- ] are in A.P. then the value 0

A 1 B) 2

3 (D) 4
g9 A ¥ 1,5.9, o g S 2

@ 2 ® 3

€ 4 ) S

The common diffciency of arithmelic progression 1,5,9, ...18

(A) 2 B} 3
(C) 4 D) S

9o, EEIER A 5, 8. 11, 14, . ¥ $E-H W 38R ?

&) 104di By 1140
(€ 127 D) 134
Which term of the AP, 3,8, 11, 14, ... is 38 ?
(A) 10th (B) 11lth

(C) 12th | | (D) 13th

91. sin(90 -A) =

(A) sinA (B) cosA
(C) tan A | (D) secA
SS/A/605 —
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92.

03.

afe (1=B=60° g a cos{a—-f) &l il
[

(A) 5 | (B) 1

€ 0 (D) 2

If u=B=60°then the value of cos{a-f) is

(A) By 1

O N

(C) (D) 2

afe 0 = 45° B W sin 0 + cos 0 H TH 2

(A) % B V2
© 3 D) 1

If 0 = 45° then the value of sin 0 + cos 0 1s
o ® V2
© 3 o 1

gk A=30° R @ —2t8nA mgmy

1-tan? A
(A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
If A = 30° then the value of —2121NA o
1-tan? A
(A) 2tan30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°

[110]

g}* SS5/A/605
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afq tanﬂ=1—§'— |l Sinuwm%

95.
(B) 5
5 13
W12
- {D} —1-2'
c) = S
(C) 13
If tan 0=% then the valuc of sin 01
12
S Bl 13
a3 B 13
5 p 12
© = @ 5
9. C0859° tan80° _
sin3l®° cot 10°
1
a) L B) 1
75 (B)
J3
(C) 5 - (D) }2' |
97. ¥R tan25° x tan65° = sinA B @ A 1 WH 2
(A) 25° (B} 65°
(C) 90° (D) 45°
If tan 25° x tan65° = sin A then the valuc of A is
(Al 25 [B) 650
(C v
) 90 ID] 45¢°
SS/A/605
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98. 3fe cos0=x @ tan 6=
(A) J? ' - (B) 1;"2
€ yi-x? (D) =
| 1- x?
If cosO=x then tan 0 =.
(&) ‘IE"-E (B) 1?‘2
€ y1-x? (D) —=
r 1- x?
199, (1-cos?@)=
(A)  cos?0fl-cos? 0) -(B] sin? 0 (1+cos? 6)
(C) sin?0(1-sin?0) (D)  sin?0 (1+sin? @)
. y-maﬁ@a%ﬁ%@mmw% ?
A (y 0) | B) (2,y)
©  (0,x) D) % A
What is the form of a point lying cn y-axis ?
A} (y 0) (B) (2,1;)
(C). (0, x) (D) None le these
L‘iS/A,fE»OS
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H|vg - 4 /f SECTION - B
9 I W99 / Short Answer Type Questions
7¥7 HE 1% 30 7% o Iwdla qvT §1 g9 @ Pt 150w & I E1 ada
77T & Frg 2 s Freffea § 1§x2=3p

Question Nos. 1 to 30 are Short Answer Type Questions. Answer any

15 questions. Each question carries 2 marks. 15 x2 =30
Lo % 7 W &l A daR F wmy 30° w1 Fo el 21 dEn T 3 fag 6
918 WA H i ) San & wyl wwh 2

A ladder 7 m long makes an angle of 30° with the wall. Find the

height of the point on the wall where the ladder touches the wall,

Th WAL IqE ABCD 1 Y AD ¥ 92 Wi W E & o 8 vd BE,
CDO®! F W wierede w1 & W g #¢ Bk AABE ~ ACFB

Eis a point on the extended part of the side AD of a parallelogram

ABCD and BE intersects CD at F'; then prove that AABE ~ ACFB.

3. ABC@W&?@W%%W&CW%!%'?&%

AB? =242

ABC is an isosceles right triangle with £C as right angle. Prove that
AB? =2AC2

AHzAcméqutriﬁmgMBcaﬁmﬂéw CBW fom £ s faxg

21 3% AD L BC 3 gp | AC B, a g =t f aamp - AECF 21

E is a point on side cpg produced of an isosceles AABC with
AB = AC. If AD 1 BC and EF | AC,

prove that AABD ~ AECE
$S/A/605 |
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& AABC % Yyl AB 3k BC w1 withst AD TF 3™ APQR ®

Wﬁ'mﬁt.Pme@WPmm:wmﬁﬂmﬁ
% aaBC ~ APOR.

B

Sides AB and BC and median AD of a AABC are respectively
proportional to sides PQ and PR and medium PM of another APQOR.
Then prove that AABC ~ APQR.

6.  AABC a1 ADEF §W&q § 7o 3% 8% Fww: 9 A2 aur 64 2 €
IR DE=51 3 A A AB 7R F

AABC and ADEF are similar and their areas are 9 cm 2and 64 4::‘!‘12

respectively. If DE = 5-1 ¢m then find AB.

7. x> 41 %9 x + 18 9m iy

~ Divide x3 +1 by x + 1.
8.  Yfeas Ryem wenifter &1 wam X 504 a9 1188 1 ToHo I Hil

Using Euclid's vision algorithm, find the H.C.F. of 504 and 1188.

9. fiam witwm 2x2+5x—3=o'%ﬁaammaﬁaﬁn;a‘iﬁsgvﬁaﬁm
C (. |

Find the discriminant of the quadratic equation 2x2+5x-3=0

and find the nature of the roots also.

10. 38 fag ¥ Pl wr w St Rl (- 1, 7) 3R (4, - 3) ® e 9@
t@@EYE #i 2 : 3% Fqua ¥ Ia:fnfom s 21

Find the co-ordinates of the point which divides line segment
joining the points (- 1, 7) and ( 4, - 3 ) in the ratio 2 : 3 internally.

}
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m [11‘01

11 ﬁgmm%mmﬁﬁ“ﬁ”ﬁﬁ%ﬁ%m [—L-‘x,—l},(:%,—s]mﬂ
(5,2)8 |

Find the area of the triangle whose vertices are (- 5, - 1), (3
and (5, 2).

12, et == o Rl 0y3 At {1 T 1 FA U8 AES T B

The diagonal of a cube is 9V3 cm. Find the total surface area o 3
cube, |

.‘*5] .

13. i@ w5 5-3 w5 swfdy gem 2 f

Prove that 5~ 3 is an irrational number.

14, k'%aﬁwnﬂﬁs%qﬁ@i[l,1).(3',k]3ﬂ'{(—i,4]‘v:ﬂ13‘3?

For what value of k points ( 1,
collinear ?

15. y-mamﬁmﬁ@mﬁa\ﬁﬁaﬁ(6,5)3411[—4,3]1?{?:@@
B -

L), (3, k)and (=1, 4 g,

Find such a peint on y-axis which is

equidistant from the points
(G.S)End(H"r,a].

16. Hﬁ tan6=% 'E"l?ﬁ sin 0 + coséﬂmﬁﬁﬁﬂﬁl
If tan'B:%then find the value of sin § + cos ¢, |
17, 3R sin3A=cos(a - 26°) & vt 3A TH T I R A A w1 A 375 =
If sin3A=cos[A—26°}, where 34 is an acyte angle, then find the
value of 4,
18, |

ﬁﬁ@nﬁmmasoéqémﬁgw

o w0 L
Al e i w5 -

S8/A/605 | S T
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The sum of two numbers is 50 and one number is 7 times of the

other ; then find the numbers.

19. e feef W & anuwr ) fren 7 TRt v g Su 24 Wh R A owEH
FEHYB H1 AT T *|
If the radius of base of a cone is 7 cm and its height is 24 cm then
find its curved surface area.

20. wH ugl B A g A cw 7 ft @) 40 e | 3@ g T e
&A% T i
The length of the minute hand for a clock is 7 cm. Find the area
swept by it in 40 minutes. https://www.bsebstudy.com

21. f&g =i % tan 7° . tan 60° . tan 83° = J3.
Prove that tan 7° . tan 60° , tan 83° = V3.

22, Q) FOTE WIHS QUits Ara L R 9l &1 9 365 @
Find two consecutive positive integers, sum of whose équares
is 365. .

23. Q) FEAIHI & W 6 HA 180 &) B HGH H T 4L GG H 718 A 2
M wuA & forg eftem ferd

* The difference of squares of_twu numbers is 180. The square of the
smaller number i1s 8 times the larger number. Write the equation
for this statement. _
SS/A/605
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[1]_0
|
' R 9T HUN: 3
W%P@Rﬁaﬁ%SﬁTWﬁFQﬁmp TR §
24,

# f% APOR us
R PS_PT o spsT =2PRQ, T 08 ‘Wﬁﬁ‘%

SQ TR
) the sides PQ g,y '
| iangle POR, two points S and T are on and py,
n a triangle .

tively such that i) E and £ZPST =ZPRQ, then prgye that
respective S0

APQR is an isosceles triangle.

25.  fqom 3 w1 wam o ade 2x2 -2J_x+1 =0 & IS 7w

| Using quadratic formula find the roots of the €Quatiop
2x? ~2Zx +1=0.

026 3411419+ . +67 % FHd 79 T

Find the sum of 3+11+19+ .. +67.

27. AR T T 3 W s o w9 o1 ve www 43 T 79 & A wwiew 44
BIGEEa{

28.  fog =t fy E:_Cﬂ=1+cose_

l-cos6 = “sinp

Prove that mzlff::os[} _
l-cos8 ~“sing

r 29- m ﬁ % t&n Qo . tan2?° =Cct63¢

Prove that tange

30. 3Ry cosA:S

.COtRB1° .

. tan27e° =CoLB3° cot gy,

[ss7aze05 T

https://www.bsebstudy.com

Page 42 of 44


https://www.bsebstudy.com/

H [110]

< I Wy / Long Answer Type Questions

mﬁWSlﬁaBﬁﬁﬁﬂﬂm?tﬁﬁﬁﬁFﬁ4wﬁ$milm
T & fg 5 s Frife 3 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any

4 questions. Each question carries 5 marks. 4x5=20

31. W wiiww W x+3y-6=0 AU 2x - 3y-12=0 H @ = T
& &

Draw the graphs of the pair of linear equations x+3y-6=0 and

2x -3y-12=0 and solve them.

32, Rrg i f% o frdll e o1 @ B R B & o w1 $ Tom @ ok
. R 9 saha w0 e e SR B @ B e 29 §)

If one angle of a triangle is equal to one angle of the other triangle

and the sides included between these angles are proportional then
prove that the triangles are similar.

33. Q HHl h TH G A AH F ANZ A 97 TA } W@ AR A &
AEE $ g § @ Fen I W

A two dié;it number is four times of the sum of its digits and twice
the product of its digits. Find the number.

34, 7.6 ¥R ww ow Yawws W AR W S ; 8 F wgum § R @t A
LR R

Draw a line segment of length 76 cm and divide it in the ratio
S : 8. Measure both parts.

SS/A/605

Page 43 of 44

https://www.bsebstudy.com


https://www.bsebstudy.com/

[110]
35.

fae =t fy (secO-tan9) =1+2-tan2 0-2sect .tan0.
(secO+tan0) -

Prove that (secO-tan0) =1+2tan29—25609 .tan 0.
(sec8+tan0)

3 T ) et s 10 0 3k o WA 1 3@ @ BN W
Rt iy 2 Qi e 1 R 3 v 3 = A

36.

The radii of two circles are 19 cm and 9 cm respectively. Find the
radius of the circle which has circumference equal to the sum of
the circumferences of the two circles.

37. Trafafeq 9e7 %1 w3 =t

a1 FAUH

11-13.

13-15

15-17

17-19

19-21

21-23

23-25

qRERAT

7

6

9

13

- 20

Find the mean of the following distribution :

Class-

interval

11-13

13-15

15-17

17-19

19-21.

21-23

23-25

Frequency

7

6

9

13

20

S 4

38. U WF ¥ fums A fdw e 4 I R qun =% R & qfom
(qftieran) 18 @ft 3R 6 At €1 5w foswsh 1 whyEla et s Bt

The slant height of a frustum of a cone is 4 cm and the perimeters

(circumferences) of its circular ends are 18 cm and 6 cm. Find the

curved surface area of the l'rusium.

SS/A/605
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